BAIVELESR WESE(FF4EI0A1E~)
BAIVELHRARH
XERHAEHECILEEBREEENTEYERA.

aE 2K Hho— HA4X JANT—F (IB)AGAME | GDAKIMEE
1312-30  [%ABT1vh=FEEIvav 1 R—Ta 30cm | 4975520831976 6,000 6300
1312-30 [%AZ74vb=ARIvav ’"=F 30cm 4975520831983 6,000 6,300
1312-3C  [%ZBT1VF=HEIYLAVERRN — I/~ R—Sa 30cm Al | 4975520832072 1,700 1,900
1312-3C  [HRXBT4vb=AiEY v a v EHRARL— /A — ’"=F 30cm 3 | 4975520832089 1,700 1,900
1312-40  [EABT1vr=FEEIv AV T R—Ta 40cm | 4975520831990 7,000 7,600
1312-40 [ZZB74vb=ARIv a1 =7 40cm 4975520832003 7,000 7,600
1312-4C  [%ZBT1VF=HEIYL AV ERRAN — I/~ R—Sa 40cm F | 4975520832096 1,800 2,000
1312-4C | A BT v a AR —M/A— ’"=F 40cm F3 | 4975520832102 1,800 2,000
1312-50 |%ABT1vr=FEEIvav 1 R—Ta 50cm | 4975520832010 8,500 8,600
1312-50 [#ZZ74vb=ARIvav =7 50cm 4975520832027 8,500 8,600
1312-5C  [%ZBT1vr=AHEIYLAVERARN — I/~ R—Sa 50cm Al | 4975520832119 2,000 2,200
1312-5C  [HXBT4v=AiY v a s EHRARL— /A — ’"=F 50cm | 4975520832126 2,000 2,200
131270 [%ZABT1vh=FEEIvav 1 R—Ta 70cm | 4975520832034 12,500 12,800
1312-70  [ZZB74vb=ARIvi a1l N=F 70cm 4975520832041 12,500 12,800
1312-7C  [%ZBT1Vr=HEIYL AV ERARN —H/— R—Sa 70cm Al | 4975520832133 2,300 2500
1312-7C  [HRABT4vb=AiY v a v EHRARL— I/ — =7 70cm | 4975520832140 2,300 2,500
1641-40 |BERE—ZXTU—Yviav Tn— 4975520831518 4,300 4800
1641-40 |BRE—ZIU—Yviay Jy—r 4975520831525 4,300 4800
1641-50  [BRE—Z7Y—rvvar Tn— 4975520831532 5,300 5900
1641-50 |BRE—ZTU—Yviay JU—r 4975520831549 5,300 5900
1641-60 |BERE—ZXTU—vviav In— 4975520831556 6,300 7,100
1641-60 |[ERE—Z7U—2) JU—r 4975520831563 6,300 7,100
1634 |BRE—ZX7U—Yviar 1 (ARE4D) G- 4975520831846 3,600 3800
1634 |BRE—X7U—Yviar 1 (ARE4F) Tn— 4975520831839 3,600 3800
1635 |BRE—ZX7U—Yviar I (BREATI) G- 4975520831860 2,800 3000
1635 |BRE—X7U—Yviar I (BREA4TI) Tn— 4975520831853 2,800 3,000
1624 |BRE—ZTvk G- 4975520830986 6,500 6800
1624 |BRE—ZTVk Tn— 4975520830993 6,500 6,800
1626 |BRE—X 2wk (AVY) G- 4975520831280 10,000 10500
1626 |ERE—X 2wk (AVY) Tn— 4975520831273 10,000 10500
1681-40 [BR3Eoviav R—a 40cm | 4975520832416 6,000 6,200
1681-40 [BR3BovLav HK=TL 40cm | 4975520852520 6,000 6,200
1681-50 [BR3Eoviav R—Ta 50cm | 4975520832423 7,800 8000
1681-50 [BR3Woviav HK=TL 50cm | 4975520852537 7,800 8,000
1681-60 [BR3Eoviav R—Ta 60cm | 4975520852513 13,000 13,200
1681-60 |EZRSEIvav =T 60cm | 4975520852544 13,000 13,200
1610 BERE—X/SuF T— s 4975520830832 1,800 1,900
1610 |ERE—Z/ K Tn— M 4975520830849 2,000 2,100
1610 BERE—X/SuF T— L 4975520830856 2,300 2,400
1612 [ERE—Z/ UK (X)L Tn— s 4975520830863 2,000 2,100
1612 |BRE—Z/SF (R)LM) Tn— M 4975520830870 2,300 2400
1612 [BRE—Z/SUR (R Tn— L 4975520830887 2,600 2,700
1654 |BRE—XAED I5v4 4975520831761 9,000 9,400
1625  |BRE—XYviay (ENTA) JU—r 4975520831266 7,800 8,000
1625 BRE—XYvar (BT ) T— 4975520831259 7,800 8,000
1693 |ERE—XHhoviay JU—r 4975520831624 8,500 8,600
1693 BRE—XHR Iy ay T— 4975520831617 8500 8,600
5100  [ROI7=yRERHE (ZYLLARESZ/T) HUIR s 4975520775515 5,200 5,700
5100  [RHOTF=vhERE (ZYLLABESAT) HUHR M 4975520775522 5,200 5,700
5100  [ROIT7=yRERHE (ZYLLARESZ/T) HUIR L 4975520775539 5,200 5,700
5100  [RHOTF=vhERE (ZYLLABRESAT) HUHR LL 4975520775546 5,500 6,000
5100  [RUI7=yRERHE (ZYLLARESZ/T) HUIR 3L 4975520146032 5,900 6400
5100  [RHTF=vhERE (ZYLLABESAT) =% s 4975520775638 5,200 5700
5100 AYTT7=ybENE (RYLELETRHERM1T) Evy M 4975520775645 5,200 5,700
5100 AYLTT7=ybERE (RYELERE217) Evy L 4975520775652 5,200 5,700
5100 AYTT7=ybENE (RYLELETRHERM1T) Evy LL 4975520775669 5,500 6,000
5100 AYTT7=ybERGE (RYELERE217) gy—v s 4975520775553 5,200 5,700
5100 AYTT7=ybENE (RYLELETRHERM1T) J)— M 4975520775560 5,200 5,700
5100 AYTT7=ybERGE (RYELERE217) gy—v L 4975520775577 5,200 5,700
5100 AYTT7=ybENE (RYLELETRHERM1T) J)— LL 4975520775584 5,500 6,000
5100  [RHOTF=vhERE (ZYLLABESAT) Jy—L s 4975520775591 5,200 5,700
5100 AYTT7=yhENE (RYLELETRHERM1T) ) — L M 4975520775607 5,200 5,700
5100  [RHOTF=vhERE (ZYLLABESAT) Jy—L L 4975520775614 5,200 5,700
5100 AYTT7=ybENE (RYLELETRHERM1T) ) — L LL 4975520775621 5,500 6,000
5100  [RHOTF=vhERE (ZYLLABESAT) JL— s 4975520775676 5,200 5,700
5100 AYTT7=ybENE (RYLELETRHERM1T) JL— M 4975520775683 5,200 5,700
5100  [RHOTF=vhERE (ZYLLABESAT) JL— L 4975520775690 5,200 5,700
5100 AYTT7=ybENE (RYLELETRHERM1T) JL— LL 4975520775706 5,500 6,000
5101 AYTT7=ybERGE (RYFEHIBAEET) REZZS s 4975520775713 5,400 5,900
5101 AYTT=ybENE (RYFERRESCT) HuHR M 4975520775720 5,400 5,900
5101 RYT7=yhERE (RYREHIRES(T) LS L 4975520775737 5,400 5,900
5101 [ROIF=yrENGE (RYFEBIES1T) HUIR LL 4975520775744 5,700 6,100
5101 RYTF=yERE (YR EHIRES1T) HyHR 3L 4975520146049 6,200 6,500
5101 [ROIF=yrENGE (RYFEBIES1T) Evy s 4975520775836 5,400 5900
5101 |ROTF=oRERFE (RYMEHIRIESCT) Evy M 4975520775843 5400 5900
5101 [ROIF=yrENGE (RYFEBIES1T) Evy L 4975520775850 5,400 5900
5101 [ROTF=ohERHE (RYMHEHBE2/T) Evy L 4975520775867 5,700 6100
5101 [ROIF=yrENGE (RYFEBIES1T) - s 4975520775751 5,400 5900
5101 AYIT7=ybERE (ZYFEHIBAZET) JU—> M 4975520775768 5,400 5,900
5101 [ROIF=yrENGE (RYFEBIES1T) - L 4975520775775 5,400 5900
5101 RYTF=yERE (YR EHIRES1T) JU—> LL 4975520775782 5,700 6,100




2K Hho— HAX JANa—F (IB)AGAME | GOAKIEE
AYTT=ybENE (RYFERREST) ) — L s 4975520775799 5,400 5,900
RYTF=yERE (RYHEIRES1T) D)=L M 4975520775805 5400 5900
AYTT7=ybENE (RYRFERREST) 9\)— L L 4975520775812 5,400 5,900
RYT7=yERE (YR ERIRESE1T) S —L LL 4975520775829 5,700 6,100
AYTT7=yMEY T ELEAR RAE— s 4975520776031 6500 7,100
AYTTF=yMEY T HE SRS RAE— M 4975520776048 6,500 7,100
AYTT7=yME) T ELARS RAE— L 4975520776055 6500 7,100
AYTTF =y MEY T HE SRS RAE— LL 4975520776062 6,800 7,300
AYTT7=yMEY TR ELARS RAE— 3L 4975520146056 7300 7,800
AOTTF=yMEY T HEEARY IS s 4975520776130 6,500 7,100
AYTT7=yMEY T ELEARY IS5 M 4975520776147 6500 7,100
AYTT=yMEY T HEEMXARY IS L 4975520776154 6,500 7,100
AYTT7=yMEY T E LIRS IS5 LL 4975520776161 6,800 7,300
RYTT MR T HELHIRY F1—7 s 4975520776079 6,500 7,100
AYTT7=yMEY TR ELARS =7 M 4975520776086 6500 7,100
AYTTF =y MEY T HE SRS *—7 L 4975520776093 6,500 7,100
AYTT7=yMEY TR ELEARS A—7 LL 4975520776109 6,800 7,300
AYTT =y MEY T HE SRS JL— s 4975520776178 6,500 7,100
AYTT=yMEY T ELARS gL— M 4975520776185 6500 7,100
AYTTF=yMEY T HE LR gL— L 4975520776192 6,500 7,100
AYTT7=yME) T ELARS JL— LL 4975520776208 6,800 7,300
ZHIF=yrRRL—R XKD FAE— s 4975520776239 4500 4,600
AHTFZYhRRL—FXRY RAE— M 4975520776246 4500 4,600
RYTF YRR —FXRY FAE— L 4975520776253 4500 4,600
AHIFZYr R —F Ry FAE— LL 4975520776260 4,800 4900
RYTF YRR —FXRY I s 4975520776314 4500 4,600
AHIFZYr R —F Ry IS5y M 4975520776321 4,500 4,600
RYTF YRR —F RS IS5 L 4975520776338 4500 4,600
AHIFZYr R —F ARy TS5y LL 4975520776345 4,800 4900
RYTF YRR —RXRY F1—7 s 4975520776277 4500 4,600
AHIFZYr R —F Ry *y—7 M 4975520776284 4,500 4,600
RYTF YRR —FXRY F1—7 L 4975520776291 4500 4,600
AHIFZYr R —F Ry *y—7 LL 4975520776307 4,800 4900
RYTF YRR —FXRY JL— s 4975520776352 4500 4,600
AHTFZYrRRL—FXRY JL— M 4975520776369 4500 4,600
RYTF YRR —FXRY JL— L 4975520776376 4500 4,600
AHIFZYr R —F ARy JL— LL 4975520776383 4,800 4900
AYIT =M T HEXRS FAE— s 4975520775874 4,300 4500
RYTF=yMEY I fHEXRY RAE— M 4975520775881 4300 4,500
AYITZyMEU T HEXRS FAE— L 4975520775898 4,300 4500
AYTT7=yME T FEXRY RAE— LL 4975520775904 4,600 4,700
AYITZyMEU T HEXRS FAE— 3L 4975520146070 5,200 5500
AYTT7=yMEY T FEXRY I3 s 4975520775959 4,300 4,500
AYITZyMEU T HEXRS Iy M 4975520775966 4,300 4500
AYTT7=yMEY T FEXRY I3 L 4975520775973 4,300 4,500
AYITZyMEU T HEXRS IS5y L 4975520775980 4,600 4,700
AYTT7=yMEY T FEXRY *—7 s 4975520775911 4,300 4,500
AYIT =M T HEXRS F1—7 M 4975520775928 4,300 4500
AYTT7=yMEY T FEXRY *—7 L 4975520775935 4,300 4,500
AYITZyMEU T HEXRS FU—7 L 4975520775942 4,600 4,700
AYTT7=yMEY T FEXRY gL— s 4975520775997 4,300 4,500
AYITZyMEU T HEXRS JL— M 4975520776000 4,300 4500
AYTT7=yMEY T FEXRY gL— L 4975520776017 4,300 4,500
AYITZyMEU T HEXRS JL— L 4975520776024 4,600 4,700
AYTT7=yMEY T FEXRY =24 s 4975520676744 4,300 4,500
AYIT =M T HEXRS vy M 4975520676751 4,300 4500
AYTT7=yMEY T FEXRY =24 L 4975520676768 4,300 4,500
AYTT=yME) T HEXRY Evy LL 4975520676775 4,600 4,700
AYTT7ZyMEY T HEXR REZZS s 4975520676782 4,300 4,500
AYTT=yME) T HEXRY RS M 4975520676799 4,300 4,500
AYTT7ZyMEY T FEXR REZZS L 4975520676805 4,300 4,500
AYTT=yME) T HEXRY HuHR LL 4975520852315 4,600 4,700
AYTT7ZyMEY T HEXR 9Y—L s 4975520852322 4,300 4,500
AYTT=yME) T HEXRY ) — L M 4975520852339 4,300 4,500
AYTT7ZyMEY T HEXR 9Y—L L 4975520852346 4,300 4,500
AYTT=yME) T HEXRY ) — L LL 4975520852353 4,600 4,700
TThFEE T— s 4975520772774 5,800 6,500
rThEE T— M 4975520760382 5,800 6500
TThFEE T— L 4975520760399 5,800 6,500
rThEE T— LL 4975520768456 6,600 7.300
TThFEE ERTY— s 4975520772750 5,800 6,500
rThEE ERTY -V M 4975520760368 5,800 6500
TThFEE ERTY— L 4975520760375 5,800 6,500
rThEE ERYTY -V LL 4975520768432 6,600 7.300
TThFEE E s 4975520772767 5,800 6,500
rThEE S M 4975520760344 5,800 6500
TThEE R L 4975520760351 5,800 6,500
rThEE LL 4975520768449 6,600 7.300
TTRFEE (AVR) s 4975520676980 6,800 7,300
7 REE (ATR) M 4975520676997 6,800 7.300
TTRFEE (AVR) L 4975520676317 6,800 7,300
7 REE (ATR) LL 4975520676324 7,800 8300
TTRFEE (AVR) s 4975520676331 6,800 7,300
7 REE (ATR) M 4975520676348 6,800 7.300
TTRFEE (AVR) L 4975520676355 6,800 7,300




aE & Hho— HAX JANT—F (IB)AGAME | GOAKIEE
5075 |y 7hEE (AUYR) I7=—TN— LL 4975520676362 7,800 8300
5075 TTRFEE (AVR) Tr=—H—L s 4975520676379 6,800 7,300
5075 |y 7hEE (AYR) I7=—)—L M 4975520676386 6,800 7.300
5075 TTREE (AVR) Tr=—H—L L 4975520676393 6,800 7,300
5075 |y 7hEE (AYR) I7=—)—L LL 4975520676409 7,800 8300
5075 TTREE (A)VR) Yo s 4975520776437 6,800 7,300
5075 |y 7hEE (AYR) HUIR M 4975520776444 6,800 7,300
5075 TTREE (A)VR) REZLS L 4975520776451 6,800 7,300
5075 |y 7hEE (AYR) HUIR LL 4975520776468 7,800 8,300
5075 TTREE (A)YR) =>4 S 4975520776390 6,800 7,300
5075 |y 7hEE (AUYR) =% M 4975520776406 6,800 7.300
5075 |7 7hESE (H)YR) vy L 4975520776413 6,800 7.300
5075 |y 7hEE (AYR) =% LL 4975520776420 7,800 8300
5075 TTREE (A)VR) R—Ta s 4975520776475 6,800 7,300
5075 |y 7hEE (AUYR) R—Sa M 4975520776482 6,800 7.300
5075 TTREE (A)VR) R—Ta L 4975520776499 6,800 7,300
5075 |y 7hEE (AYR) R—Sa LL 4975520776505 7,800 8300
2022 |HIvEF——v J1)— 4975520592617 5,000 5500
2222 |HSuE——v A+ 4975520592839 5,000 5,500
2010 |F=LL—Y Tn— 4975520550204 4,300 4,600
2010 |F=LS—Y =% 4975520550105 4,300 4,600
2010 |F=LL—Y HY—L 4975520550303 4,300 4,600
2286 |/AAUBIKS—V T LR 4975520593782 4,300 4500
2070 |34 LREHKS—Y R4+ 4975520593799 5,800 6,000
2075 |18—LP—y J1—L 4975520571315 3,600 4,000
2220 |R—/S—DYNHKRYIRL—Y JU—r 4975520593874 5,800 5900
6070  [F4F—TTOV INETL— 4975520827771 1,200 1,300
6070  |FqF—TTOv BE—L 4975520827757 1,200 1,300
6070  [F4F—TTOr RHE—F 4975520827764 1,200 1,300
6070  |FqF—TTOv ZILT— 4975520829638 1,200 1,300
6070  |FqF—IFO RILFLLS 4975520829621 1,200 1,300
126-A | ABYR—byyar T (EEX) Tn— 4975520852858 8,300 8400
1126-B | A9 R—bovar T GREUN Th— 4975520852841 6,000 6,200
126-C | ABYHR—yvLav I (BRE1T) Tn— 4975520852834 4,000 4,100
126-F | ABHR—Rovsary T (RuMEATIN Th— 4975520111191 7,500 7,600
126 | ABYR—Foviar I (Rubs47) Tn— 4975520111054 8,800 9,000
6011  |ABNBTITOY (hAY) FIUR M 4975520829485 5,500 5,600
6011 | ABNBTITOY (hSYR) PUUR L 4975520829492 6,000 6,200
6011  |ABNBTITOY (hAY) Evy M 4975520829522 5,500 5,600
6011 | ABNBTITOY (hRYR) Evy L 4975520829539 6,000 6,200
6011 |ABABITAY (MRYR) FOEIN M 4975520829508 5,500 5,600
6011 | ABNBTITOY (hRYR) HY—L L 4975520829515 6,000 6,200
6012 ABNBTTOY (RVVHE4T) REZZS M 4975520802211 5,500 5,700
6012 [ ABABITTOV (XSv984T) HUIR L 4975520826057 6,000 6,200
6012 ABNBTTOY (V84T REZZS LL 4975520826361 6,600 6,800
6012 [AANBITTOY (ITvH84T) Evy M 4975520826033 5,500 5,700
6012 ABNBTTOY (RVVHE4T) =24 L 4975520802129 6,000 6,200
6012 [AANBITTOY (ITvH84T) Evy LL 4975520826378 6,600 6800
6012 ABNBTTOY (V84T RIA+ M 4975520826026 5,500 5,700
6012 ABNBTIOY (V84T RIA+ L 4975520826040 6,000 6,200
6012 ABNBTTOY (RVVHE4T) RIA+ LL 4975520826064 6,600 6,800
6012 | ABABITTOY (XSv984T) HY—L M 4975520802310 5,500 5,700
6012 | ABABITTOY (RSv984T) FOEIN L 4975520802327 6,000 6200
6012 [ABABITTOV (RSv984T) JY—L L 4975520826071 6,600 6800
6013 ABNBTTOY (VEE/TF) REZZS M 4975520826248 5,700 5,900
6013 ABNHTTOY (VHE(T) A L 4975520826095 6,200 6,400
6013 ABNBTTOY (VEE/TF) REZZS LL 4975520826330 6,800 7,000
6013 ABNBTIOY (VEAT) =24 M 4975520826088 5,700 5,900
6013 ABRBTTOY (V5T Evy L 4975520812128 6,200 6,400
6013 ABNBTTOY (VEAT) =24 LL 4975520826323 6,800 7,000
6013 ABRBTTOY (V51T RIA+ M 4975520812418 5,700 5,900
6013 ABNBTIOY (VEAT) RIAh L 4975520812425 6,200 6,400
6013 ABRBTTOY (V5T RIA+ LL 4975520826101 6,800 7,000
6013 ABNBTTOY (VEAT) ) — L M 4975520812319 5,700 5,900
6013 ABRBTTOY (V5T 9Y—L L 4975520812326 6,200 6,400
6013 ABNBTIOY (VEAT) 9)—L LL 4975520826118 6,800 7,000
6018 ABTTI~B0TTOVT H—a(XT)L— M 4975520829768 4,100 4300
6018  |As7m~BNTIAVT B—a4ZXT )b— L 4975520829775 4500 4,700
6018 ABTTI~B0TTOVT H—a(XT)L— LL 4975520829782 4,900 5,100
6018 ABTTH~BNTTOV T INF—EVY M 4975520829737 4,100 4300
6018 AT TH~BLITOLT IYE—EYy L 4975520829744 4500 4,700
6018 ABTTHh~BNTTOV T T —EVY LL 4975520829751 4,900 5,100
6018  [AA77H~BLTIOVT LEV(TO— M 4975520829799 4,100 4300
6018  [AAT7H~BLNTTOVT LEVATA— L 4975520829805 4,500 4,700
6018  [AA77H~BL\TIOVT LEVATO— L 4975520829812 4900 5100
1792 |YZMZE>F (1fEN) R+ 4975520537465 3,500 3,700
1793 [VTMESF QEA) RTA+ 4975520537472 6,650 6900
1773 |25vbRIDLIR ER) HUIR 4975520852681 5,500 5800
1782 TFALRYDAAT HER) Evy AE—)L | 4975520831686 5,400 6,000
1782 T4 LRYHUKAT (MEN) JI)— L¥a25— | 4975520831693 5,400 6,000
1782 |FSALAYHKAT (HER) POEIN S5— | 4975520831709 5400 6000
1783 |TSALRUAUKAT BN Evy RE—)L | 4975520831716 9,800 11,000
1783 |TSALAYHKAT QER) gi— L*¥a5— | 4975520831723 9,800 11,000
1783 |TSALRUAUKAT BN D=L 5—% | 4975520831730 9,800 11,000
1794 [FSALISVROBNE (BA) gi— 4975520538318 6,500 6800




aE 2K Hho— HAX JANT—F (IB)AGAME | GOAKIEE
1795 |FS54LT59ROBLF fEA) - 4975520539841 11,600 12,600
1796 [FS54 L0992 avVBLF (EA) POEIN 4975520538325 6,500 6800
1797 |FS54 L9923 VBLE QEA) 9Y—L 4975520539858 11,600 12,600
1794-N TS5 LI59FOBWFITEAIVEDYF—TEL Jy—> 4975520831426 5900 6,200
1795-N | TS5 LIFVFOBVE[2BAIVDEYA —TU L g—y 4975520831433 11,000 12,000
1796-N  [F54 L0y ar VBVF1EAIVEDYF—TEL DY—L 4975520831440 5,900 6,200
1797-N | T54 LTy av Vb FE2BAIVEDYF—TEL Y=L 4975520831457 11,000 12,000
9603 T4 L RTFAUF =>4 ZE—)L | 4975520895930 28,000 29,500
9603 T4 L RTF 480K PR L¥a15— | 4975520895947 28,000 29,500
9603 T4 L RTFAUF JY—L S5—o | 4975520895954 28,000 29,500
9603-N TS5 L RF4/ UK VEDYF—TUEL =24 RE—)L | 4975520881773 27,400 28,900
9603-N  [TS54 L RF /3K DEDYF—TUEL gy—> L¥a5— | 4975520881780 27,400 28,900
9603-N | T51 L RF4UF BEbYF+—TUEL POEIN 5— | 4975520881797 27,400 28,900
9604 |FSAL FHAURT (HBA) Evy ZE—)L | 4975520881711 5,000 5500
9604 [F54L FRAUET (BN - L#¥a25— | 4975520881728 5,000 5,500
9604 |FSAL FHAUET (EA) POEIN 5— | 4975520881735 5,000 5500
9604-N T4 LFH/AUFI[1TEAIVFEDOYA —TU ML Evy RE—)L | 4975520881636 4,400 4,900
9604-N TS5 LFHAVFITEAIVEDYA—T UL Jg—> LFa5— | 4975520881643 4,400 4,900
9604-N T4 LFH/AUFI[1TEAIVEDYA —TU L Y=L 5—Y | 4975520881650 4,400 4,900
9605 TS L FHAVET QER) =>4 RE—)L | 4975520881742 9,000 10,000
9605  [TF54L FRAUET EAN) - L*¥a25— | 4975520881759 9,000 10,000
9605 | F54L FR/AVED EA) HY—L 5— | 4975520881766 9,000 10000
9605-N | F54 LFH/ VR T[2BAIVEDYF—ToEL ey RE—)L | 4975520881667 8,400 9,400
9605-N | FSALFM/AVRI[2BAIVEDYA—T &L F— L¥a5— | 4975520881674 8,400 9,400
9605-N | T4 LFH/ VR T[2BAIVEDYF—ToEL 9—L 5— | 4975520881681 8,400 9,400
5638-A |aVER—av 1 (ILF—TUE) FRYTY—> s 4975520676867 7,500 7,700
5638-A |AvER—Lav D (FA—TUE) FRYTY—> M 4975520676874 7,500 7,700
5638-A |aVER—av 1 (ILF—TUE) FRYTY—> L 4975520676881 7,500 7,700
5638-A |AvER—Lav D (FA—TUE) FRYTY—> LL 4975520676898 7,500 7,700
5638-A |aVER—Lav 1 (ILF—TUE) FRYTY—> 3L 4975520676423 8,700 8900
5638-A |AvER—Lav D (FA—TUE) FRYR—a s 4975520676904 7,500 7,700
5638-A |aVER—Lav 1 (ILF—TUE) FRYR—Ta M 4975520676911 7,500 7,700
5638-A |AvER—Lav D (FA—TURE) FRYR—a L 4975520676928 7,500 7,700
5638-A |aVER—av 1 (ILF—TUE) FRYR—Ta LL 4975520676935 7,500 7,700
5638-A |AvER—av D (FA—TUR) =77 — s 4975520676829 7,500 7,700
5638-A |aVER—av 1 (ILF—TUE) Y—IT— M 4975520676836 7,500 7,700
5638-A |AvER—Lav D (FA—TUE) =77 — L 4975520676843 7,500 7,700
5638-A |aVER—av 1 (ILA—TUE) =27 )— LL 4975520676850 7,500 7,700
5638-A |AvER—Lav D (FA—TUE) =77 — 3L 4975520676416 8,700 8900
5638-A |aVER—Lav T (FLF—TUE) Y—7T— 4L 4975520100973 9,800 10300
5638-A |avER—avl (IA—TUR) Y—JEVY s 4975520677383 7,500 7,00
5638-A |avER—av D (ILF—TUE) Y—JEVY M 4975520677390 7,500 7,700
5638-A |avER—av 1 (FLA—TUR) Y—JEVY L 4975520677406 7,500 7,700
5638-A |avER—Lav D (ILF—TUE) Y—JEVY LL 4975520676812 7,500 7,700
5738-TA |avER—Lay (GNA—TUE) F—Lo—Z) s 4975520676676 9,000 9,200
5738-TA |avER—tay (GUA—TUB) (F—Ly—XY) JayyR—Ua M 4975520676683 9,000 9,200
5738-TA |avEX—ay QLA —TUE) F—Li—X) JOyyR—Ta L 4975520676690 9,000 9,200
5738-TA |aVER—tay (GUA—TUB) (F—Ly—XY) JayyR—Ua LL 4975520676706 9,000 9,200
5738-TA |avER—Lay (GNA—TUE) F—Lo—Z2) TayyA 3L 4975520676713 9,600 10,200
5738-TA |avER—tay GUA—TUB) (F—Ly—XY) Javyg—Ey s 4975520676577 9,000 9,200
5738-TA |avER—Lay (FNA—TUE) F—Lo—Z) Javsg—Ey M 4975520676584 9,000 9,200
5738-TA |aVER—tay GUA—TUB) (F—Ly—XY) Javyg—Ey L 4975520676591 9,000 9,200
5738-TA |avER—Lay (FNA—TUE) F—Lo—Z2) Javsg—Ey LL 4975520676607 9,000 9,200
5738-TA |aVER—tay (GUA—TUB) (F—Ly—XY) Javys)—> s 4975520676614 9,000 9,200
5738-TA |avER—Lay (GNA—TUE) F—Lo—Z2) Javsg— M 4975520676621 9,000 9,200
5738-TA |aVER—tay (GUA—TUB) (F—Ly—XY) Javys)—> L 4975520676638 9,000 9,200
5738-TA |avEX—ay QLA —TUE) F—Li—X) Jayy ) —> LL 4975520676645 9,000 9,200
5738-TA [avER—ay (ONA—TUE) (A—L—X) Javyy)—r 3L 4975520676652 9,600 10,200
5738-TA |avEd—ay GLF—TUE) F—Li—X) vy —> aL 4975520676669 10,500 10,800
5738-TA |aVER—Say (GUA—TUE) (F—Ly—XY) B—BUT — s 4975520676478 9,000 9,200
5738-TA |avEdr—ay QLA —TUE) F—Li—X) =BT — M 4975520676485 9,000 9,200
5738-TA |aVER—tay (IUA—TUE) (F—Ly—XY) B—BUT L— L 4975520676492 9,000 9,200
5738-TA |avEdr—ay QLA —TUE) (F—Li—X) =BT — LL 4975520676508 9,000 9,200
5738-TA |3avEdR—Yay (GUA—TUB) F—Ly—Z2) B—HUT — 3L 4975520676515 9,600 10,200
5738-TA |avEd—ay QLA —TUB) F—Li—X) =BT — 4L 4975520676522 10,500 10,800
5738-TA [avER—ay (N4 —TUE) (A—L—X) B—BUEVY s 4975520676430 9,000 9,200
5738-TA |avEdR—Yay (GNA—TUE) F—Ly—Z2) B—BUELY M 4975520676447 9,000 9,200
5738-TA [avER—ay (N4 —TUE) (A—LI—X) A—BUEVY L 4975520676454 9,000 9,200
5738-TA |avEdr—ay QLA —TUE) F—Li—X) H—EUEVY LL 4975520676461 9,000 9,200
5738-TA [avER—ay (N4 —TUE) (A—L—X) B—BUG )= s 4975520676539 9,000 9,200
5738-TA |avEd—ay OLF—TUE) (F—Li—X) B—BLT )= M 4975520676546 9,000 9,200
5738-TA [avER—ay (N4 —TUE) (A—LI—X) B—BUG )= L 4975520676553 9,000 9,200
5738-TA |avEdr—ay QLA —TUE) F—Li—X) B—ELT )= LL 4975520676560 9,000 9,200
5738-B  [avER—iay NA—TUE) (&) RIAR—Ta s 4975520763758 9,000 9,400
5738-B  |avER—tay (GLA—TUR) (&) FNR—Ta M 4975520763765 9,000 9,400
5738-B  |avER—tay (FA—TUE) (&) RNAR—TUa L 4975520763772 9,000 9,400
5738-B  |avEd—Iar GLF—TUR) (&) RIAR—Ta LL 4975520763789 9,000 9,400
5738-B  |avER—tay (FA—TUE) (&) RNAR—TUa 3L 4975520778035 9,600 10,200
5738-B  |avEd—Iar GLF—TUR) (&) RR—Ta 4L 4975520778042 10,500 10,800
5738-B  |avER—tay (FA—TUE) (&) FNTY—2 s 4975520763710 9,000 9,400
5738-B  |avER—tay GLA—TUR) (&) FNGY—2 M 4975520763727 9,000 9,400
5738-B  |avER—tay (FA—TUE) (&) FNTY—2 L 4975520763734 9,000 9,400
5738-B  |avEd—Iar GLF—TUR) (&) ANTY—> LL 4975520763741 9,000 9,400
5738-B  |avER—tay (FA—TUE) (&) FNA—ZEVY s 4975520778097 9,000 9400
5788-B  [AvER—vay QLA —TUR) (&) FLO—XEVY M 4975520778103 9,000 9.400
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5738-B  |avER—tay (FA—TUE) (&) FNA—ZEVY L 4975520778110 9,000 9,400
5738-B  |avEd—Tar GLF—TUR) (&) FLO—XEVY LL 4975520778127 9,000 9,400
5804-A |T5A L aAVEF—av D (TNF—TUE) HIIR s 4975520884934 11,000 12,800
5804-A | TTA L aAVEF—av T (INF—TUH) AL M 4975520884941 11,000 12,800
5804-A |T5A L aAVEF—av D (TNF—TUE) HUIR L 4975520884958 11,000 12,800
5804-A |FSAL AVEFR—Tav D (ILA—TUR) Yo LL 4975520884965 12,000 13,800
5804-A |T5A L aAVEF—Lav D (TNF—TUE) HUIR 3L 4975520677208 14,000 14,800
5804-A |FSAL AVEFR—Tav D (INLA—TUR) Yo 4L 4975520677215 14,000 14,800
5804-A |T5A L aAVEF—av D (TNF—TUE) =% s 4975520884972 11,000 12,800
5804-A |F5A L AVEF—Lav T (INF—TUE) Evy M 4975520884989 11,000 12,800
5804-A |T5A L aAVEF—Lav D (TNF—TUE) =% L 4975520884996 11,000 12,800
5804-A |FSAL AVEFR—Tav D (INLA—TUR) Evy LL 4975520885009 12,000 13,800
5804-A |T5A L aAVEF—av D (TNF—TUE) R—Ta s 4975520676942 11,000 12,800
5804-A |FSAL AVEFR—Tav D (INLA—TUR) AN—Ta M 4975520676959 11,000 12,800
5804-A |T5A L aAVEF—Lav D (TNF—TUE) R—Sa L 4975520676966 11,000 12,800
5804-A |FSAL AVEFR—Tav D (INLA—TUR) R—Ta LL 4975520676973 12,000 13,800
5804-A-N | 754 L aVEFR—2av I[INF—TVB F— LI —XV]0EDYF—TUMEL RPEZES s 4975520882039 10,400 12,200
5804-A-N |F54L AVER—1av DTN —TUB F—Li—XUJ0EDYF—TUEL RS M 4975520882046 10,400 12,200
5804-A-N | 754 L aVEFx—2av I[INF—TVB F— LI —XV]0FEDYF—TUEL RPEZES L 4975520882053 10,400 12,200
5804-A-N |F54L AVER—av DTN —TUB F—Li—XUJ0EDYF—TUEL RS LL 4975520882060 11,400 13,200
5804-A-N | 754 L aVEFr—2av I[INF—TVB F— LI —XV]0FEDYF—TUEL RPEZES 3L 4975520852506 13,400 14,200
5804-A-N TS5/ L aAVEF—Yav NINA—TUR  F—Lo—XU]0EDYA—T L HIHR 4L 4975520593904 13,400 14,200
5804-A-N |T54 L AVEFR—2av MINA—TUE F—Lo—XUJ0EDYF—T UL Evy s 4975520882077 10,400 12,200
5804-A-N |F54 L aVER—2av TINA =TV F—Lo—XU 0EDYA—T 8L Evy ™M 4975520882084 10,400 12,200
5804-A-N |T54 L AVER—2av NINA—TUE F—Lo—XUJ0EDYF—T UL Evy L 4975520882091 10,400 12,200
5804-A-N |F54 L aVER—2av TIINA =TV F—Lo—XU 0EDYA—T 8L ey LL 4975520882107 11,400 13,200
5804-A-N |T54 L AVEFR—2av MINA—TUE F—Lo—XUJ0EDYF—T UL R—Ta s 4975520541820 10,400 12,200
5804-A-N TS5/ L aAVEF—Yav NINA—TUR  F—Lo—XU]0EDYA—T L AR—Ta ™M 4975520541837 10,400 12,200
5804-A-N |T54 L AVEFR—2av DINA—TLE F—Lo—XUJ0EDYF—T UL R—Ta 4975520541844 10,400 12,200
5804-A-N TS5/ L aAVEF—Yav NINA—TUR  F—Lo—XU]VEDYA—T L AR—Ta LL 4975520541851 11,400 13,200
5038  [avEFR—iay (DNF—TUR) HLRRT L—FL— s 4975520599630 11,000 12,500
5088  [avEr—say QLF—TUE) HURNT L—TL— M 4975520599647 11,000 12,500
5038  [avEFR—iay (DNF—TUR) HLRRT L—FL— L 4975520599654 11,000 12,500
5088  [avEr—say QLA —TUE) HURNT —TL— LL 4975520599661 12,000 13,500
5038 aVER—Yay (A —TUR) HLARRI S s 4975520599692 11,000 12,500
5038 |3 EFR—vay (DLF—TUR) HLRANISYY M 4975520599708 11,000 12,500
5038 aVER—ay (A —TUR) HLARRT S L 4975520599715 11,000 12,500
5038 |3 EFR—vay (DLF—TUR) HLRANISYY LL 4975520599722 12,000 13,500
5038  [avEFR—iay (DNF—TUR) L—4—757—0—XEVY s 4975520599753 11,000 12,500
5038 |3 EFR—vay (DLF—TUR) L—y—257—A—XEVY M 4975520599760 11,000 12,500
5038  [avEFR—iay (LF—TUE) L—y—757—0—XEVY L 4975520599777 11,000 12,500
5038 |3 EFR—vay (DLF—TUR) L—y—257—A—XEVY LL 4975520599784 12,000 13,500
5038  [avEFR—iay (LF—TUE) L—4—257—4)—L4 s 4975520599814 11,000 12,500
5038  [avEr—say QA —TUR) L—4—257—4Y—L M 4975520599821 11,000 12,500
5038  [avEFR—iay (LF—TUR) L—4—257—4)—L4 L 4975520599838 11,000 12,500
5038  [avEr—say QLA —TUE) L—4—257—49—L LL 4975520599845 12,000 13,500
5748 |Ta/3—avEx—vay QLF—TUE) Tn— s 4975520100379 7,500 8000
5748 |T3/3—avEFR—Yay (NF—TUE) Tn— M 4975520100386 7,500 8,000
5748 |Ta/3—avEx—vay QLF—TUE) Tn— L 4975520100393 7,500 8000
5748 |T3/3—avEFR—Yay (INF—TUE) Tn— LL 4975520100409 8,500 9,000
5748 |Ta/3—avEx—vay QLF—TUE) =% s 4975520100423 7,500 8000
5748 |T3/3—avEFR—vay (DNF—TUE) Evy M 4975520100430 7,500 8,000
5748 |Ta/3—avEx—vay QLF—TUE) ey L 4975520100447 7,500 8000
5748 |T3/3—avEFR—vay (INF—TUE) Evy LL 4975520100454 8,500 9,000
5819 |[avEr—say QNF—TU3RIFRF—84T) Tn— s 4975520145004 9,000 9,500
5819 [aEFR—Yay (DA —TU8KIFRF—54T) Tn— M 4975520145011 9,000 9500
5819 |[avEr—say QNI —TU3RIFRF—84T) Tn— L 4975520145028 9,000 9,500
5819 |[avEr—vay QNF—TU3KIFRF—51T) T— LL 4975520145035 10,500 10,700
5819 |avEr—say QNI —TL3RIFRF—84T) Evy s 4975520145059 9,000 9500
5819 AVER—Lay (WA —TU3RTFRF—54T) =24 M 4975520145066 9,000 9,500
5819 |avEr—say QNF—TL3RIFRF—84T) Evy L 4975520145073 9,000 9500
5819 AVEFR—LaY (WA —TU3RT7RF—54T) =24 LL 4975520145080 10,500 10,700
5731-N  |avER—ay (%) Fa—TEVY s 4975520541912 6,400 7,000
5731-N  [avEdR—Iay (#%EF) Fa—JEVY M 4975520541929 6,400 7,000
5731-N  |avER—ay (%) Fa—TEVY L 4975520541936 6,400 7,000
5731-N  [avEXx—Iay (%BF) Fa—JEVY LL 4975520541943 6,400 7,000
5731-N  |avER— a3y (%BE) Fa—JTN— s 4975520541868 6,400 7,000
5731-N  |avER— a3y (&) Fa—TJITN— M 4975520541875 6,400 7,000
5731-N  |avER— a3y (%BE) Fa—TJTN— L 4975520541882 6,400 7,000
5731-N  |avEdR— a3y (&) Fa—TI— LL 4975520541899 6,400 7,000
5731-N  |avEdR—ay (%BE) Fa—TJTN— 3L 4975520541905 7400 8,000
5731-N  [avEX—iay (#%EF) Fa—JJ)—> s 4975520100812 6,400 7,000
5731-N  |avER—ay (%) Fa—JIy—v M 4975520100829 6,400 7,000
5731-N  [avEXx—Iay (%BF) Fa—JJ)—> L 4975520100836 6,400 7,000
5731-N  |avEdx— a3y (%BE) Fa—JJ—> LL 4975520100843 6,400 7,000




